Multiplicar Tres Polinomios (B)

Ot

Simplifique cada expresion.

(28% — 5) (45 + 25 + 4)(s? — 95% + %)

—2(62* — 92° 4 2?)(—222 =52 — 1)

3. Tg*(49° — 49 + 3)(—9g + 2)

- 3n°(6n* — 4n)(—5n* — 2n)

T (=Tp* + p?)(—4p* — 6p)
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Multiplicar Tres Polinomios (B) Respuestas

o

Ut

Simplifique cada expresion.

(28% — 5) (45 + 25 + 4)(s? — 95% + %)

— 85" — 725% + 145" — 58s% + 425° — 45*

—2(62* — 923 + 22)(—22* — 5z —1)
— 1227 + 1225 — 372° — 42 + 127

79°(49* — 49 + 3)(—9g + 2)
= —252¢% 4+ 308¢° — 245¢* + 42¢°

3n°(6n? — 4n)(—5n* — 2n)
= —90n” 4 24n® + 2407

T (=7p" + p°) (—4p" — 6p°)
= 196p™ + 266p” — 42p°
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